dsr_percentile <= 96.438
entropy = 1.0
samples = 445

value = [222, 223]
class = Big

True
/ False

dmc_percentile <= 69.261
entropy = 0.96
samples = 324

value = [200, 124]
class = Small

'

EFBI_max <= 48.489
entropy = 0.998
samples = 219
value = [115, 104]
class = Small

\

dc_percentile <= 42.678
entropy = 0.954

EFBI_min <= 2.597
entropy = 1.0

dc_percentile <= 97.481
entropy = 0.996

samples = 8 samples = 202 samples = 28
value = [3, 5] value = [99, 103] value = [13, 15]
class = Big class = Big class = Big

entropy = 0.974 entropy = 0.932

samples = 143 samples = 23

value = [58, 85] value = [8, 15]
class = Big class = Big

/

/




